Accel Algebra 2
10.01 Notes - Graphing Parabolas

Parabola: a conic section where the distance from 1 fixed point (focus) and a line (directrix) is equal.
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Practice: Graph the parabola. State the vertex, AOS, focus, directrix, and focal width.
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Accel Algebra 2
10.01 Notes - Graphing Parabolas

Parabola: a conic section where the distance from 1 fixed point (focus) and a line (directrix) is equal,
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Examples: Graph the parabola. State the vertex, ACS, focus, directrix, and focal width.,
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Practice: Graph the parabola. State the vertex, AOS, focus, directrix, and focal width.
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Accel Algebra 2 Name:
10.05 Completing the Square - Parabolas

Write the standard form of the equation of each parabola.
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Co-verhees

Horizontal Major Axis

x-h? = k)
2 T2

=1,wherea>h

Vertical Major Axis

@R -

52 = 1,wherea>h

Center: (h, k)

Vertices: (h+a k)
Co-vertices: (h,k = b)
Foci: (h ¢, k), 2 -b2=c2
Eccentricity = i

Center: (h, k)

Vertices: (h, k+ a)
Co-vartices: (h = b, k)
Foci: (h, k % ¢), a? - b2 =¢?
Eccentricity = g

Examples: Graph the ellipse. State the center, vertices, co-vertices, foci, and eccentricity.
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10,01 Practice: Graph the ellipse. State the center, vertices, co-vertices, foci, and eccentricity.
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10.04 Writing Equations™

Write the equation in standard form that meets each set of conditions.

Ellipses

1l

The length of the semi-maijor axis is
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Hyperbolas

5. The length of the transvgrse axis is 6. The endpoints of the conjugate axis:
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Parabolas (\/~ld.) z Lho (;( - 1)
9. Vertex: (-5, 1). Focus: (-1, 1)
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4 Accelerated Pre-Calculus
8.03 Ellipses — Day 2

Name: | m

Date:

¢

Review: For each ellipse, identify the coordinates of the center, the vertices, and co-vertices. Then graph.
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How would you identify the characteristics of the ellipse if the equation is not in standard form?
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Accelerated Pre-Calculus Name: }'(,(UO\’_'

8.04 Ellipses - Day 3 D(er: .

Write the equation of the ellipse in standard form that meets each set of conditions. Calculate{&) b, and c.
Graph, then list the coordinates of the center, fodi, vertices, and co-vertices. -
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5. The endpoints of the major axis are (-11, 5) and (7, 5). 6. The ellipse is tangent to the x-axis and the y-axis
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Vertices: ‘5,1\0) _ Co-Vertices: {1\ 0) {'5.103 Vertices: (A,2) (=% '1‘) Co-Vertices: “ 2 iqﬁ,
Foci: L?). '«tb‘) ’ : Center: ( r ‘2,3
9, The eccentricity equals 77 and : 10. Foci: (-6, 9 + 2v30) and (-6, 9 ~ 2v/30)
4 conker -.-.:MA(;,&\* i ? yal
the co-vertices are (2, -9) and (-4, -9).<_( =\ ,~A Y the eccentricity equals ——. 2
2. (= g —
GtV o (4 ¥d) o) Astee=3 sty (Y D7 ( I
Standard Form; 2 1, b Standlard Form: Y4 w4
2 ]
%.;J% a?-b’=c? [ a7 walic @ (49
2. o
e el e
Chatk ¢ avd o % =a '
qrhqs {3 = VY = Y]

I ~Aa="F
o=t c=¥F Y



8.02 Practice: Graph the ellipse. State the center, vertices, co-vertices, fodl, and eccentricity.

=P A= B e
-9 | G4 _ e (r2)? | -7 _ o=\ 1
1. + =1 b=5 T 2, + =1
81 25 64 Loh | o S N -
¢ o? ¢ ol o § i p
Center: (5“5> Eccentricity / B3] Center: ("’«*Q.« L?) Eccentricity: /¥ /’ a‘&cﬁi«\3
Vertices: _(19,~5) (~lo,~5) Vertices: (=104} (é:» (4»‘3
Co-Vertices: __{B,0) (5‘ ~10) Co-Vertices: __ (=, 1Y ( mg,‘:?)
i: & - i -AE } = 2
Foc: _ (3 % G, -§) Yl-aS=c = Fod: _( ~REBJF, lo) bY-1 = ¢
168 o =& LY 18 o = *
: S, = c B T VG me
IS . :’ -ﬁ...‘gg M8 - 3 B840
R :>> !
l \_\ Grrferdfy y 5
Sl LT T 1
LT =t &, e e a2 T
9 64 CM'J; m . 16 36%““ - g
Vrr Ta? :vf oS b at' "‘;‘_2&3/
Center: (0,0)  Eccentricity: /B 2927 Center: (= ~3.=3)  Eccentricity: T 255 "HS"'\“)
Vertices: _ (0 .‘E& (‘D\ 3) Vertices: _(~2,3) (~@, ~2)
Co-Vertices: (b ;ON) (j’f) ,C)) Co-Vertices: (f" {-"-.m%) (2;3)
" Fod: (O: + \rﬁ%) Foci; § ) =Yk Qﬁ'
By 9
/e : ;
Jim 4
AN | o
2141} ; 2
5 2 »’, 658110 1018 i M - P .10
PEIN Qo
AW _ by
\\ @B y \ ".3 J
b :
A6 i i
Use completing the square to factor the following equations.
5 16%2 + 9y? - 64x ~ 18y — 71 = 6. 4% + 25y2 = 16x + 250y + 541 =
Wex % (oM % 4 9y '2“‘-\ R S TR *“‘Wwﬂ = G ]
\u(\(\z”q\’”%;) Wcu “&} " V) A A 4 M"[}HM"L\M“E&DCJ Dy "ﬁw\i )( )
3 o *"I(aU 3 ey
6. (Y. U.ﬁ IR (AN S (J» el
Cackw = 14 b =Y Ay -y = U4y fachor ‘-&(w&‘) %&Swﬁ loo
v e W‘“( W dloide ( sz . o
g (lipse: W -2 L:;L;J-) = | H(ps»z: o “} Jm—- - ]






10.04 Extra Practice

Write the equation in standard form that meets each set of conditions.

Ellipses
‘ N Kk
1. The centeris at (-3, -1), the length

of the horizontal semi-major axis is
7 units, and the fength of the semi-
minor axis is 5 units.

-

§

0
]
B a=_]
- :
{4
: b= b
o o .
Lot 2 < .
-/ q A9 e=
n . - 1B-LE D
\x ’; . A
i |
7
{e3 )
®
10

L2 ()
yid 25 |

Standard Form:

3. The major axis endpoints are (4, 9),
(4, -7), and the foci are at (4, 7) and
(43 —5)' CCJV\'f‘“‘(’/V' g (Lbl)

g

)

s aggg‘l

BEEES
o
]

B0

&= -0t

Standard Form: 2% b4

=]

2. The foci are at (0, 2) and (-4, 2)

and a=7. Center . (—~;L, 2)
Ha -l = 4
{495 =l
b;3ﬁ§
( A (e
- ; b=3y5
c=
~10.0-8 -~ gl
s

Standard Form:

(% ra) .0 —;z)&:
49

45

4. The endpoints of the major axis are
(-11, 8) and (7, 5). The endpoints of
the minor axis are (-2, 9) and (-2, 1)

et i | e
L~ A=)
s A
¢ FEaEean i5s
N 4
i I
1018 2 618410

G

Standard Form:

(X “Q—,z ; (j"ﬂls

1

I

J



5. The foci are at (-3, 2) and (5, 2) an 6. The eccentricity equals 7, and the

e eccentrid®quals 0.5.= L. . & (4 .
t triceaqu T e g co-vertices are (2, ~-9) and (-4, -9).
: : : | = R i ' P
e - | b="H3 (S S e s s 6. SO o
AR RN I YRONY NUtA S B | B B < R LIRS 4, ko -
a| ‘x' o P ‘J?: 1o fl Lt I ; : ¢= ‘l i
WL BBl 2 618140 1 ii 2; 1 i 'tb "
AR e bhebT el RS g% T 0T
RV P O 3 : : S ]
RSN ! ug =b | 3 I - A 247
o 1 {u) L‘,B : ' io} } __l \/
SOV 00 AR VLN 0 | # P A0 9% b = «ob : ® i ,ﬂy i =
C : ( " R) T —7

9
o
—~ k-
\,1 r
D
—

Standard Form:__ l“ H43 = | Standard Form: Il q

Hyperbolas v
7. The center is at (h, -2), a=2, b=3, 8. The length of the conjugate axis is 8
and the transverse axis is vertical. units and the vertices are (-3, 9)
and (-3, -5).

q
1,

a
(=]
s 1

o

...................

RTEIN @
o
il
R
o
i
~
—

“4 0

i

5Y
e
=
F
) 1
e
O
23]
3
12y
Y
=

=S

TR SO SO S A )
H

1
i
i
=7y
.
=216

(\{—;«)& (><+57°1‘_

[\}f}l)a ) (x-%)&* | _ ‘

Standard Form: 4 9 Standard Form:__ 49 1%




9. The center is (0, 1), one focus is at
(10, 1) and the eccentricity is 3, =é\- 2 _’.3

i
H

3

BT
1

i
EE Y.
9

=i i ;. 5
WP ICH: =R

Standard Forim:__ 3\, o™ =]

11. Endpoints of the conjugate axis:
(16’ —2)} ('—8’ _'2) U
Foci: (4,-2+4V13)

h K c
Ay
B a=§
'3
4 b= -
a c= 413
0. - SRR N Db LB N
. a2 ® -] ,
:{ 4 : aJJ-f“{"'i’ = 0%
- B ot~ &
5 o =4
10 a=g
2
O ()t
Standard Form:  |,4 I |

10. Endpoints of the transverse axis:
(-1,14), (-1, -4). a=9 AJ
Foci: (-1, 15) (-1, -5) AaY

IIGH N
B T
bur @ o
SEsmenmEad e =1
2 2
(y-5) {x+1)
s ]
Standard Form: %1 19
12. Vertices: (8, 5), (8, -3) . A7
_vio_ ¢ o
Eccentricity = —= = > A
ey —
N )
...... ; b=l _
G 1N ¥ = Qﬂb
1018 - D $§313
i f I 4'{0 = L0
- T; : 02%
I
2 g? = &m
(y _l) _ (X“‘Z)_ _ l
Standard Form: b a4




13. Vertices: (2, —4),( 14, —4) o (*La,*“?)
D C Asymptotes: y——x+—and
..__,x.__[.l‘...g.. _+-b':'.t%

) X
e e §
- ST a= %
o - i
H a]
00 R I I
[ i i i r———s
'“1,!3- ::-B. £y MZ. ’ 2 QJ}} o i1
| 4 is) )
Lt “ :
I PR O A
. ! 1, i»] ;
' I 4 ¢
T A . 10 i

A K
(X +b) } [y+H)
Standard Form: Y g |

Parabolas

15. Vertex: (2, —2). Focus: (2, -3)

-

IR THTETe

LSS
:
!é 3,

oiETH

h: A ki =4 p: -]
Standard Form: ()(*9\)3\: -4 /\! +2)

e

14. Vertices: (7, 5), (7, -15) ¢:(1,-%)
Asymptotes: y = - 7 ane V)

40
g
5 10
| &
=
I Y g
A
H g
i -
)
|l iy 2 T ————es
| _,2
i )
V e
i
4
& 1
........... 1 T I O
o 1,
B it
; ) I
: ol 1.3
AT 1.4
TR

Standard Form: |00 3l

16. axis of symmetry x 5
“tocus: (5, ~6), p =
AOS

R | y ‘! .

=TS

Bl 5]

G

b k-5 p' il
Standard Form: (X - 5) (\/ *5)




¥

17, Pagses through the point (0,-3)
ﬁﬂﬂzm,opensdewm;veﬁﬁxis
(2,-4). e

- oy (- yop e

D= I [

z Nl T i

: i} 3 3

L ! ah "

; LRV !

: IR I ! e

B S O g 4 -

; I ; ;

i - ; 7
-10;.-B B2t 4, BB 2D

i o] 4 i ‘x

¥ Il o

f MY EAY 09}

f o T

10!

he R ki_~H pr |
Standard Form: (\! ¥ L})a =-% (Xfél)
Foaetplosa)
b = -gp!)
P-4

18. The focus is at (1, -1), the-distance
from-the-foensto-the-vertex-is—t
~pntt-and-the-functon-has-a—
minimues o iye tAriX s X =70

ey .,.]....}.4’3 -
» U I
[
B e T
E ol - % ]
] i * Z ....
I 51
; 34 . :
L i
510 O G
o A
0 0 0 (" j

h-& ki -1 p: 3

A
Standard Form: \;HI) IIQ(Xi‘Q)






10.03 Hyperbolas

Hyperbola: a conic section where the difference of the distance from 2 fixed points (foci) is a constant.

FigureH: | / FigureV: .
/
A\ ATAANSVErEC
AXIS connects
Vertices

B AConjugatt
ALiS Conneaht
Co-VerHces

Horizontal Transverse Axis

Vertical Transverse Axis

(- (k)

a? b? =1

(-k? @k

a? b? =1

Center: (h, k)
Vertices: (h + a, k)
Foci: (h £ ¢, k), a?+h?=

Asymptotes: y~k = :I: (x—h)

Eccentricity = -

Center: (h, k)

Vertices: (h, k * a)

Foci: (h, k & ¢),r a2+ b2=¢?
Asymptotes: y~k = £ (x~h)
Eccentricity = E

Examples: Graph the Hyperbola. State the center, vertices, foci, asymptotes, and eccentricity.

1.

(+1)? -1 _ o0rd k=3
16 9 b+ gz
as =(*
€=

Center: (~l , | )

Vertices: {~

Foci:

5.1) (%,1)
(u 0 f‘—’rﬂ

Asymptotes: N -l =g l-f ‘Xr l)
Eccentricity: / .

5 (y+3)2 _ (x+4)2 _ @jma lau:_m
) 4 25 Yer Qs = %
¢ =24

Center: ( '-" -3 )

Vertices: (-4 - | \ -5 )

Foc: (. LI Z3a (7?1)

‘Asymptotes: Y +3 = ;?/ [ v+ '"f)

Eccentricity: {5171/ o, j

5

STETSTE @

: /I;JP h%
j 2y

[=)
T

&




10.02 Practice: Graph the Hyperbola, State the center, vertices, fodi, and asymptotes.

(x 3)2 yz - 1 ﬂ :_,a; k..’,:f_:)

st

g0 e

Center: /5 0 )

Vertices: / ¥ 0) (5 /5)

Focl: (4 -’t\ﬁ{—g o)

Asymptotes: % - i/%“(' X —3}

Eccentricity: rd iQ

(] = L_ﬁ’%

s
-
2
3
o
L
r

=il

(x+1) _ 22 2)? 1' asg = V)

36 e~ il

L +3L = ¢
60 =c®

Center; -—f Zl)

Vertices: ( 5[ 2{) '.l ;O

Foci: (“a\ (q 9\\

Asymptotes \) A= +% 3(«\«]}

Eccentricity: D/ 6/

2 (yrep -T2y A2 ::t
¥, RAER?
2 ¢ =V

Center: ('Sl ”lo} :
Vertices: ( -2.-5) (-2 7).

Foci: r3
Asympto’res. \/I Hn = L l!r (¥ *’él)

Eccentricity: 3[ I ] |

PRV ) =7 b:a
49 9 az
U urda + = 09\
e 5% =
c = (59

Center: /5 l)
Vertices: (‘5 ')?) 5 (o)

“Foci: (5 z @?)

" Asymptotes:

= :
Yol =% (x-S )

- 1 5%/

Eccentricity: _ ~ /7




Name: \/\‘@‘g_.\

Hyperbola: a conic section where the difference of the distance from 2 fixed points (fod) is a constant.

Accelerated Pre-Calculus
8.08 Hyperbolas — Day 1

FigureH: FigureV:

Identify each: Center Vertices : Foci

Asymptotes Transverse axis Conjugate axis Eccentricity

Horizontal Transverse Axis

Vertical Transverse Axis

(x—h? (y-kK)? (y-k? (x—h)?
2 -1 2 T -1
Center; (h, k) Center; (h, k)
Vertices: (h =+ a, k) Vertices: (h, k & a)
Foci: (h £ ¢, k), az+bz=c¢? Foci: (h,k £ ¢), az+b2=¢?

Asymptotes: y—-k = = 5 (x —h)
Eccentricity = <

Asymptotes: y~k = %= (x~h)
Eccentricity = 2

Examples: Graph the Hyperbola. State the center, vertices, foci, asymptotes, and eccentricity.

M) G e Y ‘@"‘f e 5 (:vﬂ;“f2 _ (xmz =1 = & T
T 5 =3 L . \i) 25 Yy . 5 gy

2 (" Ce=o&m '/'“'w =¥ T
Center: (‘*‘ ) \> 0\"?4(,}—_",,(_& Center: @ Q”% “‘EJ") d’?;\‘\gzﬂc_’z :
Vertices: C A , ﬁ, (-5, D Vie+Q=(®  Vertices: (««»L&.‘ Y (=, w57 Y gz 2
ST C T W G VTR U W =Ll " (=44, -3 & A ) e &

 Asymptotes: [}~ = ‘2/‘4- (3('!'0
Eccentricity: <5 /& =125

3

Asymptotes: Wlé}«%»‘% e Q“%M@
Eccentricity: Jz@“f'zu

103

2

. 10
J ;‘2 | v
F - sz
J3EREeEEY S
1&1.;3:/ AL \\ RN “4 T o 2 AW
s . i3 mb@:?-:ﬁé, S
i T




8.12 Practice: Graph the Hyperbola. State the center, vertices, foci, and asymptotes. o

Ry Q) el ~h Eh = (I
N C o = {BE &> ;w{ ¢ = B
. Byl By B - oy
Center: (Z‘) \C)\) g‘*&g&ﬁz‘” Center: yﬂi) (..“ &a WW) @‘%Wﬁ”m‘fg
Vertices: {1,033 (5.0 ».) ES e Vertices: { -0 ; ) (& 'sf}\] b H"}%{'&
Fodi: { L W@h @E Foci: (“Q P [ mﬁ“) " =e
Asymptotes: A} = =& (‘@iwt%\ﬁ) Asymptotes: %tfnvw m, 2 4@(”‘}{ *\:«22;}

"B,
\\

Eccentricity:

Ay
ny
EL-y
: \W#i
i’ \‘I '
4318145 - E"“ gL 8110 #
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A N
JEE-
2 (e 2/ e
ol A b
) o = lo W
) C c.m O &

ol A
Center: Q“i ] &»\) - 0.4y W“ZF
Vertices: €.~ 9 ) qx.:z’*s&.\}
Foci: (A4 wiwﬁ ‘;Q% 5&%‘)

Asymptotes: A =gl = g %’( ){—'&'ﬁ‘}

Loo =

¢ > ;
Eccentricity: \L“% = %’ =l mE
. 1‘3 /
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R
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M
Vo S
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Eccentricity: \ﬁ“@,

5
. (.15l ? Gl Bl
2 meN
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I o N e 7
e T
M ) i K\
4
N
K -y a.="%r4
(N -
4:9) o 1 &’A‘ = D Mﬁb
N4 R L\ N
P4 =5
SN foan R T
Center: ;_7%) (ffﬁ’u l\ YRz 3,
Vertices: _ 1%, %) (%H.70) 64 62 g B

f,%s,x:t\ﬁ%§;>
Asymptotes: % -t = £ C‘K"‘S)
Eccentricity: ﬂ
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e LT A3
~ KR 4 4
tng
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/
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4 v i/
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A
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Accelerated Pre-Calculus _ Name: \\L(/(ﬂg-\

8.13 Hyperbolas — Day 2 lya’re:

Write the standard form of the equation of each hyperbola and list the coordinates of the center, vertices, & foci,
the equation of the asymptotes, and the eccentricity. Then graph the hyperbola.
&"”"V‘(\Q\f‘e ® '%‘D d«g{'\ff tj { pg“;fb,— C? out c&ﬁgﬁ
1. x? + 4y? 4 90x — 16y — 353 = 0

ST
QUf ~ |y ~Ax* 400¢ = 353 NP Py A
‘p(gdl + 4 -G« »—IO\C'*ZS—() 353 : N 1 /I
g e T ST il LN
~q (25 4 ’
factor “4{y-2)™A0 x-9V =4y = NN A
d«‘:‘/‘dﬂ\’ ) § o bnf " by of b ; - /A\
= O, BB y b
(g2 s 32‘:;3;)' Y D ‘\
Standard Form: __ Blo o =27 BEPLIARIN W
U(\‘(L) @Center &) a) Verticess: (D) (5.~%) 4G // N
'm,’r(.@‘-\‘\) Eccentrlcﬁy— e @3 Foci: (6, QER WB %é
Asymptotes: u A = E 3"(, X“‘S} VAR
y w'“ be @™ Fochy -4 our cam‘(%‘:j.! /
2. x2—4'y +6x—8y—11=0 : 8
Pﬂ‘xww \ %&3 w@y ;
o ( \J (.c%);} % Q_‘é\ ; o o
fort & 48y - ‘-\-(wf} “)}..e O 2 2
(Lui\d»e’ Ve Yo o= 4 &>-10 .i\' 5. ;% : @ B
(3 Gyt +? b=2T [z 2N
Standard Form: e = I = G DM 4 P
Center: _[ =9, -1 ) Vertices: L\\‘\\ (=% 2 % x 'ﬁh
Eccentricity = aﬁﬁ"‘d:‘ Foct: (""’3 *QF \--\3 8
Asymptotes: U“{‘l =+ % S (x+3) 10
@x Wi \\(oe 2'.."al Loetwe -4 oud mregn&\\j
3, —4x?+9y?2—90y —24x+153 =0 . W@
Ct AP -0y —t¥ -Z-W"*;\ S3 s TR
A A2 Oy«a5 ) -4 (¢ «vlom a0y ==
e S e aan
-t { 4 )
Cackor: & (Y- ~5Y - (w—s\" B L
dwvide Bl Blw . Ol z@‘%{ -
. 2, -
(4= (X*’& | b=3&2 ,
Standard Form: e 3 = ‘ Q:J@@
@ Center: ( -3.9 Vertices: (“'5.7’) ("’3‘3) g
Eccentnaty— 13/4;-. Fod: ~3 X ¢ ' 8

Asymptotes: {j - 6 s ¥ ';)‘/3 ( \(-&-3) 16



B y is 8% ol ook ~4A oud caretily]

4. 36x%— 49y2 ~ 72x ~ 294y — 2169 = 0

OB -Fax - %C?t % a%& =2\ | s.
At B Lx Al M(ai)n £ wa\(ﬁ\_ + =
fochset 3L (xt Cx-ﬂ - 14 (‘,1'93)3“*‘_3&3&& 1 o 4
\%Lf ot (et ALLABNE LT ) g{(ﬂ 574%)
civide . PRI 1 7 A ’
=" L:{Jra“) -l e ) PN pr
Standard Form: _ &4@ e {gs et S~ v.d ‘w A o &m
Center: (!)"“,:5) Vertices: (8)\'“5\ (’@;'5) T i - \‘\.
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;
£
(74

Asymptotes: (4R =& ("/-;1., (x... n
@‘j I% c?s" Voudadals. £ache -9 oud mr@'ﬁa&j’

5  x* —9y ~72y—153=0 T ?c
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A gt mj %3 + \e) =153~ (k) 5
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"‘\,iT AR B ) BB
divide: 9 ] 9 T e TEESE : BB=e
X ytdr=y w=tT P e eaa
Standard Form: a c=Jloes ’ L ) s % v, SN
Center: { 4 } o ) Vetrtices: L'.‘E'... [« i “'"‘+) ... . ' 33 N ."“‘"N\\
Eccentricity = ¥ 13y N"/ Foc1 Lﬁm, —-H) 10 7
A t W<
symptotes: (-d '-i'q uﬁ.; X M& (C)‘r hLu“x'e J "P(DV\}M E’;ﬂjﬁM
@‘x i3 2R yanialiy. Facter -G eulk cafe J Q%m:ﬁ*am )
6. ~—5x? +5yz—20x+10y G0==0 - - : — Y] T T T
S ytpidy ~ Ox*-20y = oD - .y
Pi“. 6 tf —‘_a £\ \ %(\{ ""I"L"‘K”’*’ L@\-.: Lol N A 4./,..11,/
Sty scn PSR
b &Y za) -5 () [0 N Wi
Qo.dw'. (:j + O =5 x+a) = 45 - N il
q«s ADL-8 B i ] 6. 8140
( FI)R ) (x €V* a=8f [T N
Standard Form: 9 g l !Q’T"Bé'z kS \
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Accelerated Pre-Calculus Name: %\0/(//)‘\

8.10 Hyperbolas — Day 3 Date
Use the given information to write the standard form equation of each hyperbola, Use the grid if it helps.
1. The center is at (4,-2),a=2,b =3, 2. The length of the transverse axis is 6 units ?)
and the transverse axis is vertical. & and the foci are at (3, 2) and (-7, 2). &>
e 7 L c,»xo)(-
- v 12 [ . =5
g 2 1 .
: ; T = 9%
101816 B-L8.14D DBl oeB e ) 518110
: : =1l
Ig & center @ (-2,2)
an 1n
Phd 2' o 2‘ l
“+2 - . 42 ~2
Y2t (e CR S (>
Equation: 4 q - Equation: q I
=g f 1 N0
3. The length of the conjugate axis is 8 units lﬂ 4. The centet is at (0, 1), one focus is at (10, 1) .
and the vertices are (-3, 9) and (-3, -5) and the eccentricity is g . 57\
. Ta= 14 ) . I
[ Zm | Yy 5 NG a=¢
, - e .
- center @ - TS
‘ £ . L:l" , . drt )A< o 4 ‘, b :(in’
4018108 - 4.LEB. 8.1 w048l d ol - 214648490
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9 B
I3 16

GoDr (D’ o V70 o
Equation: 4 le = Equation: 3k o4 ~
5. Endpoints of tgansverse axis: (-1, 14) (-1, -4)

6. Endpoints of the conjugate axis: (16, -2) (-8, -2)

Focl: (-1,15) (1 -5) Ve,r'\\wo Zﬂwwstv Foci: (4, 2i4\/_ ﬁ,}& =2\
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oSl A [ wmm =12 é—
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ffrs) (ri¥® T e (e
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Equation: = (o (MY *;1

Equation:




centee @ (-2 5)

7. Endpoints of con)ugate axis: (-2, 1) (-2, -11) «~—8, Vertices: (8, M) GL-:* 'D U
P e Y VY
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Accel Algebra 2
10,06 — Completmg the Square Hyperbolas and Ellipses

Write the standard form of the equation and Identify the type of conic.

1. 49x2 + 16y? + 160 —384*“0

LHXQ‘«H(M% i‘)WRS) 564 +_LLQD_,
4t lolyt5)* = 784
T ™™

?4-—% (M&

Type of Conic: %ll 59% Standard Form: I
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10.06 Conics Extra Practice

Identify the type of conic, Write the standard form of the équa’cion of each conic and then graph the equation.
List the coordinates of the center, foci, and the major and minor axis vertices. State the eccentricity of the conic.
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- Accelerated Algebra 2 - Name: K044
10.07 Conics Review: Parabolas, Ellipses & Hyperbolas oDate:

Graph the equaﬁon and identify the characteristics.
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Classify each conic section as a parabola, ellipse or hyperbola. Whrite each equation in standard form,
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Use the information provided to write the standard form equation of each shape described.

13. Vertices: (-1, 9), {-1, 5) 14. Focus: (4,5) Focal Width: 12
Perimeter of Central Rectangle = 36 Opens Down
T~ hy perbela ' PMMC)}OV
408 . I 10 T , Hp = -1&
! % 10 100 T N 0 O O Y o 0 B # M-
LSl v
fonfonndo el By o £, i § Mgf_, it b .
Lot gt - TN
- R S HEmES
1 : HE S0 p oo . E o ; ..................... : &
i ) [ N { i o it T‘
1086 ) A BB 10 VIR N 4. B LB.0
bt T o 2 )
.,.,,5.. .. m.! R TN O H o W ]
ZI ; 4 ) -t 4 -1 e
i e i :
-t R s Tl i o A = f 5 -
10 010 00 1 I W I
A | i 3 L. ot L % ! J ; ' 0 i

P=tn +4b Condor:(-11) vertex (¥, %)
Bl =4{2) b S o
23 = Y '
b="1 2 2
ﬁ"") m(x*-l) 3

-

&
Equation: 4 = 4q : Equation: { X=~t) = ~]2 [\/ *‘%)




15. Center: (
Vertex: (-—3},%)

LL?.SO h &
% 16. Foci: (45-1-\[—)

Slope of the asymptotes = +

e e ; )
; £-3 ) f TS
b % el 3- - - . gt
I I L i £
| " ] LA A A o al
L 4 J ] (')- - lO = C/ i 4
¢ =l ¥ ¥ N
-t o e = a ....... t . -
S X - Foe] g § by q _._vb — "'I 1 ..... : :’)
1 . L
) T R 08161
: no = o\ 104.-8.L-8 5
i+ s b b =, b Loededgh ;
- : ¥ - i i
y N : Lot = :
; Aedgde : b o ; 1.3l - b S 2
U b bomd % . P R vt I i b L = 35
R g ! : 10 : = 4 ‘

-‘,;)

(x+

Conrer (1,5)

4
£y-3)

9

Equation:

3

Equation:

17. Co-Vertices:"

~ C
(Y\7,\:Ii\/2_f§)

Major Axis is 18 unitsdong -» g

18. Focus:

13

(" IO o N T -
_,'?,: L s . a i ,'x. . ] : b -'
e M,A\.‘Iw ; | E..m. et i «li ;’\" "
N g : f
I, | ' i i
AT Bl i YA ETELOD 04l e cobeofeea LB BN
4 ; 4 T
'''''' I I Vi
- : -e N ¥ r'
. s df
y a ..... ; {u] / '[
] : 10
—'8["@;":— C{/M’U/(5 4’) P“"’l

1= -l

b= Ul

(x+*
31

Equation:

5
Equation: (\,/1‘"” "'g()(-5')



Accelerated Pre~Calculus Name: %\JL%
8.13 Qu'est Review: Ellipses & Hyperbolas Dgte:

> Classify each conic section as elljpse or hyperbola. White each equation in standard form.
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Graph the equation and identify center, foci, vertices, co- vertices, eccentricity, asymptotes, and lengths
of axes (as appropriate).
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Use the information provided to write the standard form equation of each shape described.
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